
 1 
 (a+2)  (a+1)a  

a+(a+1)+(a+2) = 42
3a+3 = 42    3a = 42–3 

3a=39    a =  = 13

  = a = 13

  = a+1 = 13+1 = 14

  = a+2 = 13+2 = 15

 AC  ABC   2 
 ABC  

  AB 


 = cm² 
 = cm

  AB  = ?


 =   × 

(1+ )cm² =  (AC × AB)

2(1+ ) = × AB    2+2  =  × AB

 AB =  =  × 

=  = 

= 

=  = 

=  =  + 

AB = cm 
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 a+b    3 

 b  a 
 = m 

 = m


 =   × 

= 

= 10 –  + 5  – 

= 

= 

=  = 

=  –  =  – 

=  – 2    11  – 2

 = (–2+11 )m²


 22  68  4 
 b  a  

a+b = 68 .... (i)
a–b = 22 .... (ii)

 (ii)  (i) 
 2a = 90    a = 45 

 a = 45 (i) 
 45+b = 68    b = 68 – 45

b = 23
 23  45
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48°C   2024 5 

 
C = 48°C 



°F =  °C+32

°F =  × 48+32

°F = 86.4+32 = 118.4°F

 118.4°F 

 72  6 


b  a    
a+b = 72 .... (i)

 6
  = a–6 .... (ii)
  = b–6 .... (iii)


a – 6 = 2 (b–6)
a – 6 = 2b – 12
a – 2b = –12+6    a–2b = –6 .... (iv)

 (iv)  (i) 
     a – 2 b = – 6
±   a ±    b = ± 72

 –3 b  = –78  b = 

 b = 26
 b = 26(ii) 

  = 26–6 = 20
 20  6

 1520  1500    7 
   = 1500 
   = 1520 

 =   –  
= 1520 – 1500 = 20 
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

% = 

=  =  1.33%

 1.33 

 0.75%  1,30,000  9,60,000  8 


 = 9,60,000  
 = 1,30,000 
 = 9,60,000   – 1,30,000 

= 830,000 
 = 0.75%

 = 830,000 × 0.75%

= 830,000 ×  = 6,225 

 6,225 

 14    3,75,000 9 
 = P =  3,75,000  
 = T = 1 
 = R = 14%
 = I = ?
 (A) 



A = P × 

A = 375000 × 

A = 375000 × 1.14
A = 427,500 
 = A – P 

= 427500 – 375000
= 52,500 

 52,500 
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